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Questions 1-45 are about Grammar, Vocabulary and Usage 

of English. Mark the right answer. 

 

1. When I was young I………………… play outdoors 

every day. 

A) used 

B) would 

C) use to 

D) got used to 

2. Excuse me, there aren`t ……………towels in my 

room. 

A) some 

B) the 

C) enough 

D) none 

3. Ask your parents if…………………………….. 

A) do they speak English 

B) you speak 

C) they speak English 

D) speak English 

4. Which is correct?  

A) The Alps                          

B) The Korabi mount        

C) The lake Ohrid               

D) Indian Ocean 

5. Nobody lives forever,………………..? 

A) isn`t it 

B) do they 

C) don`t they 

D) live they 

6. A:Why are concrete and brick common building 

materials in our country? 

B:………………………………… 

A) They’re strong and durable. 

B) They’re not in many buildings 

C) They come from China 

D) They are not strong 

7. Scholars ………. that the Albanian language existed 

long before the Greek or Latin even though it is hard to 

find any written evidence. 

A) believe 

B) are believing 

C) not believe 

D) believing 

 

8. A: Excuse me, but it’s cold in here. 

B:……………………… 

A) You turn off the heater now. 

B) Go ahead and close the window. 

C) Open the heater 

D) Mind your business 

9. After World War II…………….. , the world 

population increased very quickly. 

A) had ended 

B) were ending 

C) ended 

D) was ending 

10. After the movie, everyone was taking taxis home 

because………………… 

A) it rained. 

B) raining 

C) may rain 

D) it was raining 

11. When ……….your parents………….? 

A) did / got married 

B) has / got married 

C) did/  get married 

D) have/married 

12. Everybody ………..that the first Olympic games 

…………….in Athens. 

A) knows/are hold 

B) has known/were hold 

C) knows/held 

D) knows/were held 

13. Which sentence is correct? 

A) Many economists believe that interest rates are 

gonna drop again. 

B) The exhibit will open in three week. 

C) The team not will win the game without Vedat 

Muriqi. 

D) When will the semester end? 

14. Which underlined word or phrase is wrong in the 

following sentence? 

“Scientists think that global temperatures will rise even 

more dramatically  in the near future unless the 

burning of fossil fuels can be reduced significantly.” 

A) can be reduced 

B) dramatically 

C) will rise  

D) unless 
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15. If you …….. before the end of the show, you ……… 

who wins the race. 

A) leave/know 

B) leave/won`t know 

C) leave/will know 

D) left/won`t know 

16. Today’s astronomers……. the movement of most stars 

with high-powered telescopes. 

A) will see 

B) could see 

C) are able to see 

D) were able be to see 

17. A: I’m feeling very relaxed because I’m on vacation 

this week.  

B: You’re lucky………………… 

A) You don’t have to wake up early every day. 

B) You have to wake up early every day. 

C) You wake up early every day 

D) You go to bed early every day. 

18. I’m first on the list, …………. I? 

A) are 

B) am not 

C) aren`t  

D) am 

19. The movie `Mission impossible` is about …… spy and 

………….adventures. 

A) the/the 

B) a/the 

C) a/his 

D) the/his 

20. ……….. considered to be one of the best ways to 

exercise the whole body with very little risk of injury. 

A) By swimming  

B) It is swimming  

C) Swimming is 

D) If swimming is 

21. Lion cubs, like all cats, learn………their fur clean by 

licking it and combing it with their teeth. 

A) for keeping 

B) to keep 

C) keeping 

D) keep 

 

 

22. Tom and Jerry had an argument yesterday, but 

they……………….. today. 

A) made it  

B) made up 

C) made it up 

D) made it away 

23.  …………….a person earns, the more the family 

spends. 

A) The most   

B) When   

C) The more  

D) How much  

24. Today is not……cold ……….yesterday. 

A) __/as  

B) so/like   

C) so/as   

D) so/so 

25. Which word combination is wrong?  

A) Commit a crime 

B) Charge the battery 

C) Write software 

D) Release a nightmare  

26. Mary has gone to the baker`s to buy a ……..of bread. 

A) piece  

B) pound   

C) loaf   

D) packet 

27. She could not quite remember his name although it 

was on the ………….of her tongue. 

A) top   

B) tip   

C) front   

D) end 

28. There is a …………of sugar in Europe at the moment. 

A) want  

B) need  

C) shortage  

D) requirement  

29. The Korona virus ……..widely, all over the world. 

A) spilt   

B) sped   

C) spread  

D) sprang   
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30. The train arrived late…….bad weather. 

A) due to  

B) because  

C) out of   

D) from 

31. Where is the body of the …………man? 

A) murder  

B) to murder   

C) murdered    

D) murdering 

32. If every child ………..his teeth every day, dentists 

would not be very busy. 

A) brushes   

B) would brush  

C) brushed    

D) had brushed  

33.  …………..best is riding horses. 

A) She likes   

B) What she likes  

C) That she likes  

D) What she is like 

34. As a child, he used to be ............... of the dark. 

A) astonished  

B) frightened 

C) terrifying 

D) frightening 

35. The winner of the competition will ............... a surprise 

prize, to be presented by the President himself. 

A) possess 

B) receive 

C) own 

D) reward 

36. People with no previous ............... need not apply. 

A) experiment 

B) experience 

C) inexperience 

D) experiments 

37. The phone rang ………. I was having supper. 

A) while 

B) during 

C) for 

D) in 

 

 

38. The use of plastics for shoes ……… of leather has 

ruined shoe repairing as a business.                                       

A) although                                                                                                                                                                                        

B) as well                                                                                                                                                                                             

C) instead                                                                                                                                                                                          

D) outside 

39. Now that he has retired, he lives partly on his pension 

and partly on the …………. on his post office savings 

account.                                                                                                                                                                         

A) income                                                                                                                                                                                                         

B) wages                                                                                                                                                                                            

C) salary                                                                                                                                                                                                 

D) interest 

40. Be quite! It’s rude to …………. people when they are 

speaking.                                                                       

A) interfere                                                                                                                                                                                                

B) interrupt                                                                                                                                                                                        

C) prevent                                                                                                                                                                                        

D) introduce 

41. During the ………………….. the audience strolled 

and chatted in the foyer.                                                                      

A) gap                                                                                                                                                                                                   

B) pause                                                                                                                                                                                              

C) space                                                                                                                                                                                     

D) interval 

42. She looked everywhere for her book but ………… had 

to return home without it.                                            

A) lastly                                                                                                                                                                                                  

B) at the end                                                                                                                                                                            

C) in the end                                                                                                                                                                                         

D) at the last 

43. Air pollution is obviously one of the major 

……………….of city life. 

A) references 

B) disadvantages 

C) attempts 

D) definitions 

44. As I have just had a tooth ………, I am not allowed to 

eat or drink anything for three hours. 

A) put out 

B) taken off 

C) crossed out 

D) taken out 
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45. A……………. comes second in a race or contest. 

A) victor 

B) front runner 

C) runner up 

D) rival 

Questions 46-60 are based on reading texts. Mark the right 

answers considering the reading texts. 

The Scot and the tea kettle 

According to one story, a Scottish boy watched the steam 

lift the top off his mother’s tea kettle and realized the 

power of steam to make machines work. That boy, James 

Watt, would then go on to invent the modern steam engine 

in 1769. Actually, the history of steam technology records 

the successful work of several scientists and engineers 

before Watt. For example, in 1698, Thomas Savery had 

introduced a simple steam pump to remove water from 

mines, and 14 years later Thomas Newcomen invented a 

better pump. But these pumps weren’t efficient because 

they used so much fuel. In 1769, the Scottish boy, James 

Watt, figured out a way to save three-quarters of the fuel. 

To honor him, his last name became the name of a unit of 

energy. 

46. The example of the boiling tea kettle shows that steam 

is ……………… 

A) useful 

B) efficient 

C) powerful 

D) necessary 

47. The first steam engines …………………. 

A) didn’t pump water 

B) cost too much to build 

C) were difficult to make 

D) used too much fuel  

 

 

 

 

 

 

 

 

 

It’s a big country! 

When it comes to body weight, Americans stand out. Most 

visitors to the United States, no matter where they go 

across this vast country, comment on the size of many 

Americans. In fact, these impressions are backed by 

numerous statistics. For example, the average 5'4" 

American weighs 162 pounds, or 15 pounds more than the 

average person of the same height from Western or Central 

Europe. Another comparison: At 150 pounds, the average 

5'4" American woman is 24 pounds heavier than her 

Japanese counterpart. 

Why are Americans so heavy? Some blame the American 

diet. Certainly it’s true that Americans eat more high-fat 

foods – meat, dairy products, and processed food – and 

fewer grains and vegetables than people in other countries. 

But fat isn’t the whole story. Lifestyle factors – including 

the tendency for Americans to drive rather than walk or 

ride a bicycle to work, to snack throughout the day, and to 

have so many labor-saving devices in the home – appear to 

contribute to the problem. 

48. According to the article, visitors to the United States 

often comment on the size of the …………... 

A) population 

B) cities 

C) country 

D) people 

49. According to the article, the average Western 

European weighs ……………... 

A) more than an American 

B) more than a Central European 

C) less than an American 

D) less than a Japanese person 

50. In comparison with Americans, people in other 

countries eat more ……………….. 

A) meat 

B) dairy products 

C) processed food 

D) grains 
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Sneezing 

People long ago believed that a sneeze – “a little explosion 

in the head” – was a……51……. from the gods which 

could  foretell either good or evil fortune. The present 

custom of wishing the sneezer good………52……..or 

fortune – to forestall possible bad luck – dates back at least 

to the Ancient Greeks. In the 17th……53……. it was very 

impolite to omit the wish, and it was……54….. to raise 

the……55……. and bow at the same time. 

Sneezing to the right denoted good fortune…56….., at the 

start of a journey; but to …57…….to the left, or near a 

grave, was…58…..unlucky. Sneezing three times before 

breakfast is thought to predict a present before the end of 

the week. Some people it is a sign of good health to sneeze 

after a meal; anyone who does so regularly after dinner is 

expected to live to a great age. There are…59…. rhymes 

connected with sneezing. 

One runs: Monday for danger,Tuesday  kiss a 

….60………, Wednesday for a letter, Thursday something 

better, Friday for sorrow, Saturday, see your lover 

tomorrow. 

51.   

A) signature                     

B) sign                     

C) starsign               

D) zodiac 

52.   

A) wealth                         

B) help                     

C) health                 

D) heat 

53.   

A) century                       

B) decade                 

C) year                     

D) place 

54.   

A) customary                  

B) tradition               

C) habit                    

D) compulsory 

55.   

A) head                           

B) hat                        

C) hand                    

D) voice 

56.   

A) before                         

B) especially            

C) exactly                

D) strangely 

57.   

A) speak                          

B) turn                      

C) sneezing              

D) sneeze 

58.   

A) too                              

B) such                     

C) very                    

D) a lot 

59.    

A) much                          

B) any                       

C) very                     

D) many 

60.   

A) monster                       

B) dangerous            

C) stranger              

D) stronger 

 

 

 

 

 

 

 

 

 

 

 


